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Within 30 minutes of Lhe issue of the Question Booklet, Please ensure that you have got the correct
booldet and it contains all the pages in correct sequence and no page/question is missing. In case of faulty
Question Booklet, Bring it to the notice of the Superintendent/Invigilators immediately to obtaina fesh
Question Booklet.

Do not bring any loose paper, written or blank, inside the Examination Hall except the Adneit Card
without its envelope.

A separate Answer Sheet is piven. It should not be folded or mutilated. A second Answer Sheet
shall not be provided.

Write your Roll Nuraber and Serial Number of the Answer Shect by pen in the space provided above.
On the front page of the Answer Sheel, write by pen your Roll Number in the space provided at the
top, and by darkening the circles at the bottom. Also, wherever applicable, write the Question
Bookiet Number and the Set Number in appropriate places.

. Ne everwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on

OMR sheet and Roll No. and OMR sheet no. on the Question Booklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

This Booklet contains 70 multiple choice questions. For each MCQ, you are 1o recard He correct
option on the Answer Sheet by darkening the appropriate circle in the corresponding row of the
Answer Sheet, by pen as mentioned in the guidelines giver on the first page of the Answer Sheet.
For each question, darken cnly one circle on the Answer Sheet. If you darken more than one circle or
darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a guestion,
leave all the circles in the corresponding row blank (such question will be awarded zero marks).
For rough work, usc the inner back pages of the title cover and the blank page at the end of thiz Booklet.
Deposir both OMR Answer Sheet and Question Bookiet at the end of the Test.

. You are not permitted 10 leave the Examination Hall until the end of the Test.
4.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment as the
University may determine and immpose on him/her.
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Research Entrance Test-2016

No. of Questions : 60
gg= @ d@er ;60

Time : 1 Hour Full Marks : 180
gvg @ 149er goifes : 180

Note: Each question carries 3 marks. One marks will be deducted for

each incorrect answer.

(1) Each question is followed by FOUR alternative answers. Only
ONE of these answers is correct. Select the correct answer
and indidcte it in the appropriate circle on OMR Answer Shect
provided, by darkening the circle, using Ball Point Pen.

(2} Attempt all questions from 8L Neo. 1 o 40.

(3) Out of three parts of questions on languages (part-I 41 to 50
English, part-II 51 to 60 Sanskrit and part-IlI 61 to 70 Hindi),
attempt only two sets. Thus a candidate is required to answer
in all 60 (Sixty) Questions only.

01. K is the brother of N and X, Y is the mother of N, and Z is the father of

K. Which one of the following statement is not definitely true ?
(1} Yis the wife of Z (2) KisthesonofZ
(3) Z1is the father of X (4} N is the brother of X

3 P.T.O.
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02.

03.

04.

05.

A person who travels to a sacred place as an act of religious devotion
(1} Hermit {2)  Pilgrim

(3}  Samnt {4) Mendicant

The old order changeth vielding place to new :

The above statement implics which of the following ?

(1] Change is the law of nature

(2] New ideas are always [or the better

(3] Discard old ideas because they are old

{4) People find it easy to change with the changing times.

Scribble is to Write as Stammeris to.............
(1] Walk (2} Speak

(3} Dance (4) Smile

A possesses money more that BB, but less the C, I posscsses less than
E, but more than A. If C has money less then 1), who is the richest of

all ?

(1) E (2) D (3] C (4) B

LEAP 1s to 8324 as PEAL 13 to ;
(i) 2363 (2) ©B283 (3] 6328 (4] 2683
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07.

08.

09.

10.

11.

Composer : song :: 7 : ?
(1) Building : Architect ' (2) Poem : Poet

(3] Writer : Book (4} Chair : Carpenter

A man starts from a point and moves 3 Km. north, then turns 1o west
and goes 2 Km. He turns north and walks 1 Km and then moves 5 Km

towards the east. How far is he from the starting point ?

(1) 11 Km. 2) 5 Km. (3) 10 Km. {4) 8Km.

A father is presently three tirnes as old as his son. Five years back, he

was four times as old as his son. What is present age of the son ?

(1) 20 Years (2) 18Years {3} 15 Years (4) 12 Years

Ramesh wishes is go to University. He starts from his house situated
in the east and reaches on a crossing. Left side road goes to a Cinema
House and in his front is the hospital. What is direction of the

University ?
(1) East (2) West

(3) North (4) South

Who wrote 'Sare Jahan se Accha' ?
{1} Mohammd igbal (2] ZafarIgbal
(3) Igbal Mchammd | (4) Josh Malihabadi

5 P.T.O.
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12. M.5. Dheni is captain of which of the following teams in West Indies

13.

14,

15.

16.

tour 7
(1} Test team (2) T-20 and one-dav teams
(3) Test and T-20 teams (4) Test and onc-day teams

The general elections in 2014 were held to constitute which Lok Sabha ?
(1} Fourteenth (2} Fifteenth

(3} Sixteenth (4) Seventeenth

Al which of the following places, Prime Minister Lal Bahadur Shastri
died ?

(1) New Delhi (2) New York

{3) Tashkent (4] Moscow

In which of the following countries, Mahatme Gandhi started the Civil

Disobedience Movement 7
(1) India {2) England

(33 South Africa {4) South America

Who, among the following Finance Ministers, has later became

President of India ?
(1) Morarji Desai (2] Pranab Mukherji

(3] Manmohan Singh (4) Chaudhary Charan Singh



RET/16/TEST-A/14 RET/16/TEST-A/14

h b

18.

19.

Who is presently the Human Resource Development Minister of the

Centre ?
(1) Rajnath Singh (2} Sushma Swaraj
(3) Smnt Irani (4) Prakash Javdekar

According to Human Development Report, 2015, India’s rank among

188 countries was .

(1) 130 @) 131 (3) 132 4) 135

The central banking functions in India is performed by the :
(1) Central Bank of [ndia (2) Reserve Bank of India
(3) State Bank of India (4) Bank of India

" 20, The book "Long Walk to Freedom" is written by :

(1) Bill Clinton (2) Mother Teresa

{3) Henry S. Commager (4) Nelson Mandela

21. The number of diagonals that can be drawn in a polygon of 100 sides

22.

is:

(1} 4850 (2) 4950 (3] 9900 (4) 98

If the radius of a circle is increased 100 %, the area is increased by :

(1) 100% (2} 200% (3} 300% (4) 400 %

7 P.T.O.
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23. Successive discount of 10 % and 20 % are equivalent to a single

discount of ;

(1} 30 % (2) 15% (3] 28 % 4 72 %

24, At 2:15 O'clack, the hour and minute hands of a clock form an angle
of ;
1

(1) 05° 2 10 @) 225 (4) 200

25. A number which when divided by 10 leaves a remainder of 9, when
divided by 9 leaves remainder 8, by & leaves a remainder, 7 etc. down

to where, when divided by 2 it leaves a remainder of 1,15 :

{1) 89 (2) 419 (3) 1259 (4) 2519

26. A stone is dropped into a well and the report of the stone striking the
bottom is heard 7.7 second alter il is dropped. Assume that the sione

falls 16 1* m in t seconds and that the velocity of sound is 1,120 m per
sccond. The depth of the well is

(1) 784 m (2) 342 m
(3) 1568 m (4 156.8m

27. Two poles 20 m and 80 m high are 100 m apart, then the height of
the intersection of the lines joining the top of each pole to the foot of

the opposite pole is -

(1}) 14 m (2] 15m (3) 16 m {4) 17 m
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28,

29,

30.

31‘

32.

33.

& g : ;
If x 'h'i - HH\/HJI b e
(1) x=1 (2) 0<x<.1
(3) 1<x<2 (4] x is infinite

. ¢ 1

If I+; =3 then r +;3 equal to :
(1) 1 (2) 2 (3) O 4) 9
If log,x =25, then value of x is :

(1) 90 (2) 36 (3) 365 4) 0.5

What is full form of GUI ?
(1) Graphical User Instrument (2) Graphical Unified Interface
{3) Graphical Unified Instrument(4) Graphical User Interface

Storage device that can be plugged directly into a computer's USB
Port is :

(1) Flash Drive (2) DVD
(3) FLOOPY (4) CD

What 1s e-commerce ?

(1) Buying selling International goods

(2) Buying and selling of electronics goods

(3) Buying and selling of products and service over the Internet

4} Buying and selling of products and service not found in stores

9 P.T.0.
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34, What is the function of Recvele Bin ?
(1] Store Deleted file i}

(3) Store Corrupted file (4}

35. hilp in url stands for :
(1}  Hyper text Lo point
(2} Hyper Text Transfer Protocol

(3} Hard test token planning

RET/16/TEST-A/ 14

Slore temporary [le

Store Document fiie

(4} Highlighted text transfer for picture

36. MICR stands for
(1) Magnetic Ink Character Reader
(2) Magnetic Ink Code Reader
I[S} Magnetic Ink Cases Reader

(4} Memory Ink Character Reader

37. CD ROM stands [or ?
(1} Compactable Read Only Memory

(2} Compact Data Read Only Memory

(3) Compactable Disk Read Only Memory

(4} Compact Disk Read Only Memory

38. Digital Signature is based on ...............

{1} Cryptography (2]

{3) Fiber optics (4}

10

. technology :

Wik
Cloud
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39.

41.

42,

43.

WiFi stands for :
(1} Wireless Fidelity (2) Wireless Functionality
(3) Wire Flexibility (4) Wide Fixed.

What is Android ?
(1) Operating Systemn for mobile (2) Mobile Phone
(3] Laplop (4) Hardware

PART-I
ENGLISH

Identify the part of the sentence having an error in it :
By all standards/he is a best Soldier/our military school/
1 2 3
as uced so far
4

Choose the word or phrase which is nearest in méaning to the given
word :

Homage
(1) Excessive humility (2) Excessive poverty
(3} Show respect and reverence (4) Flattery

Choose the correct meaning of idiom from the alternatives given
below :

A fool's paradise

{1} A foolish idea

{2) an imaginary idea

(3} an unexpected gain

(4] false hopes for a foolish person

11 PTO.
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44, Choose the word which can be substituted for the given words :
& cure for all diseases
{1} panacea (2) cure
(3 remedy (4) antibiotic

45. Choose the correctly spelt word
{1) humorrous {Z} homorous
(3] lhumeurous (4) humorous

46. Fill in the blank with the correct preposition :

The thunder was accompanied............. heavy rains.
(1} with 2] by
(3) up (4} through

Note : Read the passage and answer the questions that follow :

Gandhiji recognised that, while all men should have equal
opportunity, all did not have the same capacity. Some had ability to
earn more than others. But, he believed that those who had talent
would be performing the work of society if they used their talent
wiscly and well. Gandhiji said that he would ailow a man of inteilect
to earn more and not suppress his talent. But it was his view that
the bulk of his larger earnings should go to the common fund. Those
with talent and opportunity would find their fulfiiment as trustees.
(Gyandhiji extended this concept af trusteeship to cover all fields of
life.

47, Gandhiji never believed in :
(1} social equality
(2) equality of epportunities
(3) political equality
{4} camplete equality in all respects

12
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48. Gandhiji's trusteeship concept is :
(1) applicable to political life only
(2] applicable to social life only
(3) applicable to economic life only
{4} applicable to all walks of life

49. The meaning of "Trustee” is a : .
(1) person who has to hold his property in a trust
(2) person having a lot of money
(3) state official who executes wills and trusts
(4) number of trusts

50. Gandhiji believed that a man of intellect should :
(I} earn as much as he needs
(2) earn for others, not himself
(3) earn more and not suppress his talent
(4) live on charity

PART-II
SANSKRIT
51, TNEA: 9%: %: ?
(1) Hag: (2) g
(3) wwaR: (4) @R
52, STHAME
(1) & 374 |em: af) (2) e A =)
(3) g&m T Tt (4) o FHA IR

13 P10
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53

54.

55.

56.

57.

58.

(1) T W () ‘eRE wEmw
(3) ‘T Ve (4) ‘O e

T ﬁ?taﬁq_l z7F wiaiiig

() Eﬂﬂﬁ—ﬂ (2} FEgr:

(3) FU@rHE: (4) TETER;
TR THA1 A ?

(1) TETEEH (2) UEAERHE
(3) YHIEVH 4) WEERENTH
gAqd 1| ?

(1) WEHRd (2) WO

(3) A (@} simgsTTER

“ fomrer % ol A W § - o Aaaed HemadeE a0 A
A

() e silE: SEE WL (2) faemer sifyd: 39 W)

(3) foaream sifam: I w69 (4) faamram afim: ﬁiﬁ . |

TAR-Ten e wEiferTdh: T
(1) Titon, o, Tare: (2) TR, W, U
(3) T, IR, R (4) HW:, TR, GO

14
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§9. ' TR P T FAl €1’ 56 A F Hehd B WE S -

(1) %8 WeHl Jor: (2) ®TE HEWE U

(3) € TRMTE JUREH (4) ATE HEUAE: FUHY
60. ‘vt fagfageml # fex Fufaarem 48 21 3@ 999 %1 v W Y8 SR

2

(1) Wi faafamedy i S fam

() wdw: feufamedvr: iyt e

(3) wdy faafaamiy ffagfmmy 9; s

(4) wehi el fe<faafimen: Suisfa

PART-III
HINDI

61, i fea frg AR o 14 sft@ S vear 2 ?
(1) “ad _ (2) W&
(3) faamr (4) Tegmr

62. W W v AR Wé)
iz ou A Rl - 18 g dfE 2 2

(1) iR (2) T

(3) gaAHE™ (4) H9HEE
63. WY ¥ &t =) FH-6 el wad sife sl st & 2

(1) 3rgH! (2] S=9TE

(3) ergt (4) e

15 P.T.0.
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64. ITENE U 59 wiew ¥ fH wa 6l = ?

65.

66.

67.

68.

(1) dime #1e (2] AIfthehra
EIRUGEIE (4) YEE HIE
w2 7 @ 2

T W T4 W@ ) - 7 e feuwt ¥ 7

(1) =HIg (2) T

(3) gi=FgT 9 (4) deRd aui

F19-dl T TRETE ‘Teaq # el € 7
(1) HHINEA (2) WY
(3) AT (4) HHHE

‘srEtre’ faus =R ?
(1) WiA®s HEHe S (2) fommaia
(3) Tl (4) HFA

F-61 T WEE TG T E ?
(1) WY (2) @iy
(3) Tl . (4) F9tE
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69. F-Hl wff g 2 7

70.

(1) 3y (2) @Evily

(3) i (4) IR

‘TUH FE AT - HEE % GEF H A Sqaed

(1) IR o (2) g

(3} <EW Wi TRl (4) AR AR
17

RET/16/TEST-A/14

200



RET/16/TEST-A/14 RET/16/TEST-A/14

ROUGH WORK
TH &

18



RET/16/TEST-A/14 RET/16/TEST-A/14

ROUGH WORK
TF &I

19 P.T.0.



10.

11.

12,
13.
14.

areaforat & fer e
(5w YfEIaT & WO STV §5 T 74T JAY-0F & &) gt 0
Faw Aiei-Fn ao-a@Ee 4 8/ § oa)
sy fe fer & 30 e % o7 A 3w & o e § el g AR © A A
o T A B T SIS AT e o e ge
YT F g i T F2
vl wud ¥ R vRw WEW-9R & afafie, fE A W S K gE S 6
A A
T7-07 e & ooy v 1 38 74 g iy 7 8 g w1 GET Ive- O T fqdr A
FaoT ITT-9F T @1 Yo 1ear Aam
mmﬂmﬁamm—ﬁmmmw—q@:ﬂq%ﬁﬂﬁﬁﬁmmh@
TT-UF & 9o g 0T 67 § A S frai o qr frd v A9 54 gt &
g7 @ &1 - et aravaw B agl YeI-gimer &1 s 7 62 & T Iwd @’
qv [

o THo e TX T STHAE WO, WERRAH WO 4 §e HoA (I} T &) 794
RYAYIAHT U7 SIEAIE ST Ao Who FMo T wem & afafea & JvET & S
T &

Fugf wfafiat # i o aftad s e gr ywior g el FIAM TE o gl
AT FT FIIT AA T |
m—gﬁm#’ﬂm%mﬂwﬁmmﬁ#ﬁﬁmm%‘mm%m
st I v F wEE G & amd 32 14 3w &t sei-07 & g g [ R
e 3 agam 47 & T & B

s T ¥ T % G e TS @ 99 & el U UF @ oA g6 B me B
R WUE UF 99 B S 40 W ag I T WA S

earT & 1 U@ AT @ R SET IT GO TE A7 GeHAT §1 7 A9 6 W¥T BT I
o ar e & o W W & e fd 7 g et ot 81 0% v WA
Ha 57 T

T F & T TH-gfET S qETS & S 9 7S 0 -y % oifdn s
& wI

TheT ¥ TR FT0 o UH AT IWY-0F WA e H T 2

Then WS A § e ol vad 4 sl o &t STl 98 e

e 538 sl wlten sl w1 g s 8, ) o9 fvefamed an e
& FE1, el R



